Parametric Equations - Q1 [Problem/H](30/5/21)



Express the following parametric equations in Cartesian form (ie
arelation between x & y).

(i) x =2t + t%, y = 2t> + t3 [3 marks]

(ii) x = 5t2 — 4, y = 9t — t3 [5 marks]



Express the following parametric equations in Cartesian form (ie
arelation between x & y).

()x=2t+t% y=2t*+1t3

(i) x = 5t2 — 4, y =9t — t3

Solution
Dx=2t+t? y=2t2+t3=2x=t(2+1t),y=t*2 +1t)

So L=t
X

Then x = 2 G) + (%)2 ,and hence x3 = 2xy + y?

(ii)x=5t2—4, y=9t—t3=t(9—t2);thent2=%+4,

X+4
and also %—9=—t2; so Z2==9_-2

y x+4 45—-x—4 41-x
and hence = =9 — = = :
t 5 5 5

5
so that t = —2-
41—x

Then, substituting back into x = 5t% — 4, we have

and hence (x + 4)(41 — x)? = 125y?



